Section J.1

Using Trigonometric Identities

‘| Glven an equation students will be able to

prove/verify the equation is true by using the
fundamental trig identities.

Study Problems

Trigonometry I Part 4 wks



Type IV: compound fractions
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Next we'll look at compound fractions. Everything here is basically the same as in the
section, just be sure fo follow your rules for dividing fractions & watch for special idei

A X ] 32X
&> | 3 .
2 R
> 2 <7 27C
I e 2%
2 b2
2 (| +3x) _ Z_X;»L@oz’

- %C(%-Zj E2atalZ



Example
Use the trig identities to transform one side of the equation into the

other.
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Example

Use the trig identities to transform one side of the equation into the

other.
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Use the trig identities to transform one side of the equation into the
other.
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Example
Use the trig identities to transform one side of the equation into the

other. ., Ik
sSin“x  SIN"Xx .

— 4+ —=2tan" x
|=-sinx Il+sinx

sin” x sin” x
- + -
|-smmx l+sinx

~sin’x (]+sinxj+ sin” x (l—sinx]
l=sinx\1+sinx/ l+sinx\1-=sinx

sin’ x +sin’ x N sin” x —sin’ x
(I-sinx)(1+sinx) (l+sinx)(l1-sinx)

. . 3 . 2 . 3
SIn” X+SIn x+Sin” x-—Sin x

(1=sinx)1+sinx)

. '
2sin” x

- (1=sinx)(1+sinx)

2sin” x

(1-sin’ x)

2sin” x

5

Cos Xx

=2tan" x



Example
Use the trig identities to transform one side of the equation into the

other. .
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